HWS PERS
HWS PERS

$$I = x_{1} + Bu = \begin{bmatrix} x_{1} \\ x_{2} \end{bmatrix} = \begin{bmatrix} -3 & -4 & -12 \\ 0 & 0 \end{bmatrix} \begin{bmatrix} x_{1} \\ x_{2} \\ 0 \end{bmatrix} = \begin{bmatrix} 0 & 1 \\ 0 \end{bmatrix} \begin{bmatrix} x_{1} \\ x_{2} \\ 0 \end{bmatrix} = \begin{bmatrix} 0 & 1 \\ 0 \end{bmatrix} \begin{bmatrix} x_{1} \\ 0 \end{bmatrix} \begin{bmatrix} 0 & 1 \\ 0 \end{bmatrix} \begin{bmatrix} x_{1} \\ 0 \end{bmatrix} = \begin{bmatrix} 0 & 1 \end{bmatrix} \\ x_{2} \end{bmatrix} + \begin{bmatrix} 0 \\ 0 \end{bmatrix} \begin{bmatrix} 1 & 1 \end{bmatrix} \\ x_{2} \end{bmatrix} = \begin{bmatrix} 0 & 1 \end{bmatrix} \\ x_{1} \end{bmatrix} = \begin{bmatrix} 0 & 1 \end{bmatrix} \\ x_{1} \end{bmatrix} = \begin{bmatrix} 0 & 1 \end{bmatrix} \\ x_{1} \end{bmatrix} = \begin{bmatrix} 0 & 1 \end{bmatrix} \\ x_{1} \end{bmatrix} = \begin{bmatrix} 0 & 1 \end{bmatrix} \\ x_{1} \end{bmatrix} = \begin{bmatrix} 0 & 1 \end{bmatrix} \\ x_{1} \end{bmatrix} = \begin{bmatrix} 0 & 1 \end{bmatrix} \\ x_{1} \end{bmatrix} = \begin{bmatrix} 0 & 1 \end{bmatrix} \\ x_{1} \end{bmatrix} = \begin{bmatrix} 0 & 1 \end{bmatrix} \\ x_{1} \end{bmatrix} = \begin{bmatrix} 0 & 1 \end{bmatrix} \\ x_{1} \end{bmatrix} = \begin{bmatrix} 0 & 1 \end{bmatrix} \\ x_{1} \end{bmatrix} = \begin{bmatrix} 0 & 1 \end{bmatrix} \\ x_{1} \end{bmatrix} = \begin{bmatrix} 0 & 1 \end{bmatrix} \\ x_{1} \end{bmatrix} = \begin{bmatrix} 0 & 1 \end{bmatrix} \\ x_{1} \end{bmatrix} = \begin{bmatrix} 0 & 1 \end{bmatrix} \\ x_{1} \end{bmatrix} = \begin{bmatrix} 0 & 1 \end{bmatrix} \\ x_{1} \end{bmatrix} = \begin{bmatrix} 0 & 1 \end{bmatrix} \\ x_{1} \end{bmatrix} = \begin{bmatrix} 1 & 1 \end{bmatrix} \\ x_{1} \end{bmatrix} = \begin{bmatrix} 1 & 1 \end{bmatrix} \\ x_{1} \end{bmatrix} = \begin{bmatrix} 1 & 1 \end{bmatrix} \\ x_{1} \end{bmatrix} = \begin{bmatrix} 1 & 1 \end{bmatrix} \\ x_{1} \end{bmatrix} = \begin{bmatrix} 1 & 1 \end{bmatrix} \\ x_{1} \end{bmatrix} \\ x_{1} \end{bmatrix} = \begin{bmatrix} 1 & 1 \end{bmatrix} \\ x_{1} \end{bmatrix} \\ x$$

 $e(a) = \lim_{t \to a} (t - y_{ss}) = \lim_{t \to a} [(1 + ca^{-1}B)t + c(a^{-1})^2B]$

$$(e(\infty) = \infty)$$

Scanned by CamScanner

HWS EE 128
E 128
(a) G(S) = k(S+20)
(S+5)(S+1(S)
(S+5)(S+1(S))
$$\rightarrow 2 \text{ closed loop} \rightarrow 2 \text{ banches}$$

(C+5)(S+1(S)) + k(S+20) $\rightarrow 2 \text{ closed loop} \rightarrow 2 \text{ banches}$
(C+5)(S+1(S)) + k(S+20) $\rightarrow 2 \text{ closed loop} \rightarrow 2 \text{ banches}$
(C+5)(S+1(S)) + k(S+20) $\rightarrow 2 \text{ closed loop} \rightarrow 2 \text{ banches}$
(C+5)(S+1(S)) + k(S+20) $\rightarrow 2 \text{ closed loop} \rightarrow 2 \text{ banches}$
(C+5)(S+1(S)) + k(S+20) $\rightarrow 2 \text{ closed loop} \rightarrow 2 \text{ banches}$
(C+5)(S+1(S)) + k(S+20) $\rightarrow 2 \text{ closed loop} \rightarrow 2 \text{ banches}$
(C+5)(S+1(S)) + k(S+20) $\rightarrow 2 \text{ closed loop} \rightarrow 2 \text{ banches}$
(C+5)(S+1(S)) + k(S+20) $\rightarrow 2 \text{ closed loop} \rightarrow 2 \text{ banches}$
(C+5)(S+1(S)) + k(S+20) $\rightarrow 2 \text{ closed loop} \rightarrow 2 \text{ banches}$
(C+5)(S+1(S)) + k(S+20) + (S+1(S)) + (S

